

אנחנו מחפשים את הממוצע של $m(\vec{r})$

$$m(\vec{r}) = \int m(\vec{k}) e^{-i\vec{k}\cdot\vec{r}} \frac{d^3k}{(2\pi)^3}$$

$$\sim \int \frac{e^{-i\vec{k}\cdot\vec{r}}}{1+\xi^2 k^2} d^3k = \int_0^\infty k^2 dk \int_{-1}^1 \frac{e^{-ikr \cos\theta}}{1+\xi^2 k^2} d(\cos\theta)$$

$$\sim \frac{1}{r} \int_0^\infty k dk \frac{2 \sin(kr)}{1+\xi^2 k^2}$$

הינה
המשוואה

$$\sim \frac{1}{2r} \int_{-\infty}^\infty k dk \frac{\sin(kr)}{1+\xi^2 k^2} = \frac{1}{r} \text{Re} \left[\int_{-\infty}^\infty \frac{k e^{ikr}}{1+\xi^2 k^2} dk \right]$$

השיטה הקלה קטנה? $k = \pm \frac{i}{\xi}$

$$\sim \frac{1}{r} \cdot 2\pi i \text{Res}(\dots) \sim \frac{1}{r} e^{-r/\xi}$$

אנחנו רוצים $\langle m(\vec{r}) \rangle$ ו- $H \propto \langle m(\vec{r}) \rangle$ כפי שכתבנו בעבר. $r=0$ - זהו המצב של $\langle m(\vec{r}) \rangle$ (הממוצע) של $m(\vec{r})$

$$\langle m(\vec{r}) \rangle = \langle m(0) m(\vec{r}) \rangle = \langle m(\vec{r}) \rangle \propto \frac{1}{r} e^{-r/\xi}$$

אנחנו רוצים את הממוצע של $m(\vec{r})$